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Carbon dioxide - TWA : 5000.0 ppm , STEL : 30000.0 ppm
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Carbon dioxide - TWA : 5000.0 ppm , STEL : 30000.0 ppm
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Carbon dioxide RS
Ll A |l =
3¢ |NE HEEE
MM a1 [(NE ANEeE
=0 |5z 7t LCLo 90000 ppm 5 min 7|Et (E3 5 ALEL LCLo,
= -
90000ppm/5M, ChemlIDplus)
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Carbon dioxide RS
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Carbon dioxide RS
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Carbon dioxide AHEeS
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XSt= OHE(ACGIH (2001)). E==AtO| Al 1 % Of &k SFEF
2 Y7t & A CHARY AEYAE QI (ACGIH (2001)).
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XNt =8 & 37t " 7|5 Bof S2 54 2 (PATTY (5th,
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Carbon dioxide RS
of O/X|= &
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M= LC50 35 mg/l 96 hr 7|Ef(Rainbow trout)
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NE AZ2AS
Carbon dioxide NEEE
M= 0.83 Log Kow
Carbon dioxide HEeE
NI AZ2AS
29l
Carbon dioxide AHEEE
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